INnclusive Electron Rates from Peter
Bosted FIt”
and its comparison with current model™”




Outline

Transplant Peter Bosted fit to
current software, an event Successful
generator.




. Transplant PB fit to current Event
enerator

2. Simulate inclusive events, using
different nucleus




Proton larget

L
=
)
S
S~
o)
=
©
o
@
S
®)
S
LU
O
S~
)
Do
T

Entries 1093
Mean x 2.791
Meany 12.91
RMS x 1.003
RMS y 6.581
Integral 263
Skewness x —0.09935
Skewness y -0.6314 |----
Kurtosis x -1.155
Kurtosis y -0.9409
0 355

312 163

4.5
W2 [GeVA2]

Data (JLab E94-110) Data from EventGenerator_PB




Deuteron larget

0.4359
1.996
0.1956

E(l = 4.4 GeV
Target =D
0=1121"

Q*~0.35,€ ~0.85
/

—
D
&
P
o
R
L
=
=5
Ll
~
e
S
=
S
O
~

&
=
o)
Q)
S~
o)
=
<
@
o)
o)
£
o
S
L
2
0p)
X
©

7 8
W2 [GeVA2]

Data (JLab E00-002) Data from EventGenerator_PB




Carbon Target
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Copper Target
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PVDIS H2 target at EO=11GeV
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PVDIS D2 target at EO=11GeV
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SIDIS Hed target at EO=11GeV
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JPsi H target at EO=11GeV
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Distribution of Ratio
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The two models give different results,
ratio In common range Is about




Potential problems with

current moage|

teqo library

iNng C

INng errors when usl

s (.Od

* Physics reasons when current model uses PDF fittings




summary

e successful software transplantation, producing
simulations that agree with data of different nucleus.

 Notable difference exits. 0.5~4 ratio iIn common range;
0~2.5in other DIS range; 1 around W2~16;

1 LR TR e 3 by IR . v . ; ax
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